BT RS - ARE (1 4fs&E10818 BE, #EHARD)
KAt X R a e 5 4 gt |5 HH Hi X B 5 « 3t
A1 TH 1, 065 1,177 1, 362 2,539 e AT 338 416 429 845
KB 2TH 731 947 968 1,915 KEE 156 205 228 433
AT 138 140 162 302 fexSEmT 155 224 236 460
ZHH J ARHRT 459 525 627 1,152 b LT 187 217 252 469
PRALE T 625 706 894 1, 600 /NPT 175 237 230 467
SR | N IT 481 629 729 1, 358 SEHT 54 72 71 143
JKEHHT 197 209 230 439 HiX 3t 1, 065 1,371 1,446 2,817
ST 81 121 144 265
HAF1TH 154 222 314 536 |EMEMHIX HEE El 2z Fin
WA 2TH 144 170 263 433 SHEAT 167 207 242 449
AJE—TH 956 992 1,126 2,118 JEHT 67 98 91 189
AR _TH 1,258 1, 285 1,459 2, 744 ‘= ARAT 144 170 190 360
HERmT 1,026 1, 080 1, 155 2,235 H TR 110 145 237 382
—yRmT 822 858 937 1,795 FR T 104 112 89 201
IR 243 221 282 503 EOKHT 62 76 90 166
PE =R T 308 318 335 653 Hi X 654 808 939 1, 747
KENT1TH 238 226 267 493
JKET2 TH 435 409 502 911 s X iR 4 5 'y gt
HAHT 370 333 412 745 B/ —TH 360 442 419 861
ARHT 237 200 270 470 /AN T H 196 231 295 526
FEAMT 215 211 233 444 BN =TH 393 535 589 1,124
E) 135 132 149 281 A ey 336 508 385 893
ST 332 320 389 709 BEOR—TH 1,222 1,414 1, 585 2,999
BE—TH 175 181 212 393 BEOR_TH 1, 860 2,203 2, 306 4,509
WE_TH 848 984 1,109 2,093 =Sl 855 1,189 1,216 2, 405
BmE=TH 426 398 404 802 PIRAHT 358 467 513 980
HX 3t 12,099 12,994| 14,934] 27,928 RAEMT 581 729 805 1,534
JNES AT 430 474 519 993
Fa AT X R a e 5 'y &t /NEE O T 615 592 638 1,230
BT 1,789 1, 987 1,916 3,903 JE BT 1, 161 1, 267 1, 499 2,766
Fx ] T 162 166 168 334 PR AT 903 1,012 1, 084 2,096
/NTELg 448 414 482 896 I ET 739 836 905 1,741
R FT 817 729 818 1, 547 HhX 2 10,009 11,899] 12, 758 24,657
if—T1 H 439 428 511 939
it — T H 474 500 586 1, 086 EEE R z = Fis
i1 TH 268 252 314 566 Y T 514 673 727 1, 400
M2 TH 517 571 604 1,175 Fmy 203 238 221 459
M3 TH 339 343 385 728 HE[E T 373 474 517 991
JK FH AT 331 319 356 675 58 298 405 437 842
1 TH 197 183 215 398 B [ BT 45 59 69 128
HET2 T H 289 269 334 603 NAESERT 48 65 61 126
W FSIGHT 339 345 424 769 PR SEMT 74 97 113 210
75 571 Y T 11 369 40 409 E AT 20 21 28 49
T A AHT 410 423 506 929 fEEMT 79 108 118 226
BEY 1 T H 287 300 328 628 B 93 109 141 250
BES 2 TH 708 771 832 1,603 Hi X E 1, 747 2,249 2,432 4, 681
ks 1 TH 304 307 344 651
s 2 TH 277 273 306 579 FAJEUHH X - HEH = = gt
A3 TH 659 605 705 1,310 FAJEASHT 277 306 341 647
HEH1TH 344 382 471 853 wWER—TH 144 168 178 346
G2 TH 575 624 626 1, 250 WHE_-TH 91 109 142 251
HEH3TH 354 377 148 825 WE=TH 11 51 69 120
_EREAAT 902 1, 059 1,203 2,262 B FEHT 131 160 186 346
2 JRHT 16 14 22 36 SR EAT 54 75 73 148
. FE R AT 379 316 382 698 B T 36 47 54 101
MWHEH1TH 484 504 534 1,038 X B 774 916 1,043 1, 959
HH2TH 887 989 1,117 2,106
Yz O AT 445 505 517 1,022
HhX e 13,451 14,324]| 15,494 29,818
=X iR 5 4 gt
P ERIT 165 267 274 541 - E % L « gt
HyAmT 199 271 297 568 XA diget 40,967 46,027] 50,552 96,579
1 pEmy 441 499 507 1, 006
A AfET 363 429 428 857
X ET 1,168 1,466 1,506 2,972
KIORIX 1HF2EEBHAE] OBEZLECEDANZHEBLTEELEZLOTHY, FREABEOAD LITA
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